PUPIL RESPONSES TO THE SCHOOL ESTATES REVIEW OPTIONS FROM ARDROSS PRIMARY

Comment Pupil
| would like the first option because | like the idea that all

of the children in our town are taught in the same big school. P5
| would like a 3 to 18 campus (option 1). This is because | like

a really big school with lots of children. | can also walk or

cycle to school. P5

| think option 1 because it will save fuel and if there is a
younger child and an older child, it will save driving to the

I think option 1 because it saves petrol. ] P7

primary school and then driving to Secondary school. P6
| would like the 3 to 18 campus in each town because it

would be an awesome school. It would be easier fuel wise if

you had an older or younger sibling; you wouldn’t have to use

more fuel. It would have more better computers and

technology stuff. Thank you _ P6

| think that a 3 to 18 campus would be better, because the
cost of refurbishing any academy is the closest to getting a
new one. P5

| think the 3 to 18 campus in each town because it saves

petrol and would be easier to get to. P6

| think option 1 because you just get the new school for the

price of a refurb, better for going to the same school instead

of going to the Academy 2 miles away. _ P6



| think that the 3 to 18 campus in each town because the

same people will be there and it is handier for parents.

| think option 1 because it would be easier for parents who
have more than one child, they would not have to waste

petrol. You would meet lots of friends in the 3 to 18 campus.

| think option 1 because | think it's a good idea for 2 schools
to be in the same area because | like the idea of 3 year olds and

18’s to go to the same place.

| think that option 1 is the best because if the parents are
going to drop off their children then they don’t have to go

to different schools.

| think that option 1 is best so that if you have 1 kid in the
Academy and 1 kid in nursery it would be so easy. Instead of
taking 2 trips you would only need to take 1 trip to the same

school.

| think that the 3 to 18 campus is the best choice because it
will cost lots of money but it will give people a better chance

to meet others.

| think option 1 because it will be easier for people with more

siblings — they won’t have to travel far.

| think option 1, the 3 to 18 campus schools will be the best,
because if you combine Invergordon and Alness together it
will get violent because it is kind of like a rival between Alness
and Invergordon. And, if you have more than one child in a
family and ones in primary and secondary, you will only have

to drive to the one destination.
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